
R0015121 Bench assemble Infeed arms

Instructions for bench assembling infeed arms

Introduction
Tools Required

Circlip pliers internal and external

Standard hex key set

Standard spanner set

Standard Tap set

Parts Required

B0000139 x 9

D0015456B x 9

D0001256 x 9

D0002943 x 9

D0001254 x 9

D0001253 x 9

D0002717 x 18

D0001255 x 9

H0007576 x 9

B0000252 x 9

D0007577 x 9

D0002999 x 9

D0015619 x 9

D0015620 x 9

Medium 6 hour(s) Dif.culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Prepare main arm for assembly

Step 3 - Attach runner strips and chain guide

Step 4 - Add Location Spiral pin

Step 5 - Assemble chain tensioner pinion

Step 6 - Assemble slide unit

Step 7 - Attach tensioner pinion

Step 8 - Mount to loading arm

Step 9 - Assembly support bars

Comments

Page 1 / 6



Step 1 - Unless otherwise stated
Use loctite 243 on all fasteners

Pen mark all fasteners once .nalised

Step 2 - Prepare main arm for
assembly
9 off

D0015456B load arm needs preparing before assembly.

All tapped holes require contaminants removing before assembly.

Use appropriate taps to clean all threads on load arms

Page 2 / 6

https://stuga.dokit.app/wiki/Fichier:R0015094_Bench_Assemble_Slider_units_Screenshot_2023-06-05_085445.png
https://stuga.dokit.app/images/thumb/1/1b/R0015077B_Bench_assemble_Infeed_arms_Screenshot_133.png/ia-5c916e91aab5bcf6b283e20542ee79d1-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_133.png.png




Step 3 - Attach runner strips and chain guide
9 off

1 Attach chain guide D0001256 as shown using 5 off M4 x 12 socket caps

2 Attach lower channel D0002943 as shown using 4 off M5 x 10 button heads

...Do Noy .t fastener to indicated hole. This is the securing hole for green wear strip .tted later on

3 Slide plastic guide into channel and .x with M5 x 12 socket cap and A form washer

Step 4 - Add Location Spiral pin
9 off

Add 8mm x 24mm spirol pin to indicated hole

Page 3 / 6

https://stuga.dokit.app/images/thumb/2/20/R0015077B_Bench_assemble_Infeed_arms_Screenshot_138.png/ia-ff882d45fb5cbf04f85a40e4ff683084-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_138.png.png
https://stuga.dokit.app/images/thumb/0/08/R0015077B_Bench_assemble_Infeed_arms_Screenshot_141.png/ia-ad36ae489cadf31e72ab8130ed0b761b-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_141.png.png
https://stuga.dokit.app/images/thumb/4/40/R0015077B_Bench_assemble_Infeed_arms_Screenshot_139.png/ia-55cc66cc1e00cfb2fe113be600a4d35e-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_139.png.png
https://stuga.dokit.app/images/thumb/c/cb/R0015077B_Bench_assemble_Infeed_arms_Screenshot_140.png/ia-f7ee7f4c053b31f5faecd3a1d668c46f-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_140.png.png


Step 5 - Assemble chain tensioner pinion
9 off

1 Use press to .t bearing B0000252 to idler pinion D0007576. Ensure bearing .t is correct. If bearing is loose, degrease with FE10 solvent

and use bearing .t to secure bearing . If bearing is tight, measure bore and report via NCR system if out of tolerance . Retain bearing with

47mm internal circlip

2 use press to insert D0007577 into bearing as shown. Ensure .t is correct. Use FE10 solvent and bearing .t if loose, if tight measure and

inspect and report through NCR system. Fix in place with a 20mm external circlip



Step 6 - Assemble slide unit

...Ensure shafts D0002717 are orientated correctly. Holes

are offset different at each end

9 off

Assemble as shown the following with no .xings

D0001255

D0002717

D0001253

D0001254

Ensure D0001255 slides along shafts once assembled

Step 7 - Attach tensioner pinion
9 off

1 Attach tensioner pinion to assembly using M8 x 35 socket cap and M8 motorplate washer

2 Add M8 x 100 set bolt and M8 nut to the indicated face

Page 4 / 6

https://stuga.dokit.app/images/thumb/8/85/R0015077B_Bench_assemble_Infeed_arms_Screenshot_142.png/ia-22ec230c08dcde2289c885984830dc51-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_142.png.png
https://stuga.dokit.app/images/thumb/4/4b/R0015077B_Bench_assemble_Infeed_arms_Screenshot_143.png/ia-7ace8cd48c6456128eb6faf066ffe4d6-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_143.png.png
https://stuga.dokit.app/images/thumb/3/35/R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-11-07_105831.png/ia-06e41562db4edd8004e66ad62892ad61-1000px-R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-11-07_105831.png.png


Page 5 / 6

https://stuga.dokit.app/images/thumb/d/d2/R0015077B_Bench_assemble_Infeed_arms_Screenshot_137.png/ia-441f0125b860b561257bfdf3a41c3df1-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_137.png.png
https://stuga.dokit.app/images/thumb/3/34/R0015077B_Bench_assemble_Infeed_arms_Screenshot_147.png/ia-12cb2e54e6deb9058db119f03ac83976-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_147.png.png
https://stuga.dokit.app/images/thumb/c/c4/R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-11-07_105726.png/ia-193b12c12ca826954712c54d5b501f9a-1000px-R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-11-07_105726.png.png
https://stuga.dokit.app/images/thumb/9/94/R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-11-07_105745.png/ia-c39e5826373e3d6e117b973ddabdd479-1000px-R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-11-07_105745.png.png


Step 8 - Mount to loading arm
9 off

Use 4 off M6 x 30 countersink bolts to attach tensioner assembly to loading arm

Insert jacking tensioner D0002999 into each assembly when .tted to arms

Step 9 - Assembly support bars
9 off

Combine as shown D0015619 and D0015620 using M8 x 30 socket

caps, M8 heavy washers and M8 nyloc nuts

Orientate as shown in picture

Page 6 / 6

https://stuga.dokit.app/wiki/Fichier:R0015077B_Bench_assemble_Infeed_arms_Screenshot_146.png
https://stuga.dokit.app/images/thumb/f/f2/R0015077B_Bench_assemble_Infeed_arms_Screenshot_136.png/ia-0702c82f4028802a14eb0e6a820c139b-1000px-R0015077B_Bench_assemble_Infeed_arms_Screenshot_136.png.png
https://stuga.dokit.app/wiki/Fichier:R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-07-31_104025.png
https://stuga.dokit.app/images/thumb/2/23/R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-07-31_104028.png/ia-4a3957bdeb558a62700723bc0d4be518-1000px-R0015121_Bench_assemble_Infeed_arms_Screenshot_2023-07-31_104028.png.png
https://stuga.dokit.app/wiki/Fichier:R0015077B_Bench_assemble_Infeed_arms_Screenshot_148.png

	R0015121 Bench assemble Infeed arms
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Prepare main arm for assembly
	Step 3 - Attach runner strips and chain guide
	Step 4 - Add Location Spiral pin
	Step 5 - Assemble chain tensioner pinion
	Step 6 - Assemble slide unit
	Step 7 - Attach tensioner pinion
	Step 8 - Mount to loading arm
	Step 9 - Assembly support bars


